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Span 3)lgo (W) (5pinf adlis uasd (ioskio) crolinsd g sl
S @ 8y 1.008.000 20x1.5
Sy > (8 1.261.000 25x1.5
S 0> (58 1.955.000 32x1.8
)5 69 3.107.000 32x3
)5 69 3.882.000 40%3
STy 5.017.000 50%3
129b 3.107.000 63%1.5
)5 9 6.270.000 63x3
Gl 9.882.000 63x4.7
)5 9 7.584.000 75%3
129 8.375.000 90%1.8
)5 69 Ly 9.076.000 90x3
Loyl 13.176.000 90x4.3
Gldgb 8.003.000 110%2.2
)5 69y L 11.941.000 110%3.2
oyl 16.074.000 110%4.2
)5 69y L 13.613.000 125x3.2
Gilwpl 20.948.000 125x%4.8
. 40 17.454.000 160x3.2
515 69y b 5 21.635.000 160x4
il 42.394.000 160x7.7
S5 68y b 5 27.252.000 200x4
JLNTIIRERS) 33.110.000 200x4.9
il 53.417.000 200x7.7
JI5 so) 40.975.000 250%x4.9
)5 69y L 51.394.000 250%6.2
)15 g9y 65.010.000 315x6.2
)1 69y by 80.286.000 315x7.7
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OIS youly OYLAH Cuond Cund

G olpayegan

(Juy)eaedd | slaws Rl Juasl g5 | (Uy)ceasd | slaes Jolw Juasl g5
AAQ,000 1 9o XSV 1Yo,000 $o Fo
YV 000 Yo V) oXSW YEF, 000 \FA Bo

V,VAF, 000 Yo V1o%90 P1A000 loo s

\,YOF,000 A \YOX9o p——— FoF,000 $o 95

\,A$F,000 ¥z \YOX) 1o — qPA 000 v o

¥, 000 A 150X\ )0 \,0f0,000 Vo (R

Y,YOA,000 A 15X V0 1,$Ao,000 \F 150 453 %o gl
191,000 $o SWXFo F,oQY,000 A Yoo
PPA, 000 e qox§W 1, 1AF, 000 ¥\ Mo a2pAY/0 p3>4l;
FFB,000 1Yo 1) oxsY 1EA,000 Ao Fo
Flo,000 VoA V1oXq0 191,000 $o Do
OY\,000 AF \YOxqo0 Wol,000 YO FY
SV, 000 YO \YOX) ) o Eff000 FA o t-%

1,0YA,000 Vs 1F0%XV 1o AVA,000 £ Vo 5

1,1V ,000 v 1$oX V0 \,050,000 v YO ‘_

Y 100,000 VA YooX\§o 1,650,000 VA 150
Flo 000 OF - ¥¥Vo,000 A Yoo 42)3F0 ¢l
111,000 PF 0 B v ESY,000 s sy

\,FAY, 000 'Y Vlox) o =y YAQ,0 00 ey 90 i

1,0AA, 000 \5 1YOX1 1o . - 1,V5A,000 YE o ;—_ ]
YoV,000 W0 sy — 1,OFF,000 Yy Yo E uh-‘
YAA,000 VoA 9o “:__ 'Z;’ Y,Y1Y,000 A \Fo
Folooo YO o if‘— — BYOAo oo E Yoo a>)3%0 ol duw
BYo,000 FA 1Yo & = . . 10 Fo
AAF 000 YE \§o FAY, 000 15 Bo I |
115,000 Vo g BOY,000 Fo A
191,000 1¥o %0 19F,000 ¥o %o |
YYo,000 YO o \,F#Y,000 Yo e
F1F,000 FA Yo 1,491,000 W YO
AYF, 000 FY 150 P01 V000 s 1o 4>)>F0 oly dw
YoQ,000 Fo P> YYo,000 Fo qo XS5V

1,E99,000 |ate 90 Y000 ws 1] oXSW

1,44Y,000 Ys o \,YAF, 000 YO Y1o%X9o0

Y,$YY,000 s YO 1,05Y,000 8% VPOX) Vo
YYY,000 Fo 7V Y,07A,000 'Y 1$0%X1 1o
$o§,000 Fo %o Y, 100,000 Y 1Fox\ve (423 235 ol) dw
Q00,000 Fo V1o \,YOA, 000 Vo 11 oXFQ | 42)3F0 ol) )le=

Y,0WA,000 Fo ‘YO FAY,000 ¥ i )

Y, \FFoo0 vs \Fo AfY,000 ey 90 AV/O'::;]) “w

V,09),000 Fo \PO-1)10-90 \,4%,000 Yo V1o
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